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1. Of the three first derivative approximations (backward, forward, central), which has the highest order of error?

2. What is the relationship between error, order of error, and the number of increments used to approximate a numerical solution to a differential equation?

3. Why does the 2! not appear in the central difference approximation of the second derivative?

4. What value of makes the Taylor Series approximation exact for the function?
f(x)=x4-3x3+2x+10

at x = 1.5 if h = 0.5 when the approximation is

a) Second order?
Note: f(1.5) = f(1) + f’(1)h +  . . .
b) Third order? Comments?
c) First order?
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